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I. An impedance Z1= (4+j4) Q2 is connected in parallel with an impedance 72=

(12+]6) Q. If the input reactive power is 1000 VAR (lagging), what is the total
active (average) power ?

1210 W

3025 W

826.39 W

1150 W

None of the above

moowr

2. In the circuit shown below, find the Thevenin equivalent circuit as seen from
terminals a-b.

Vrhev= 4.82< 34.60, V, Z1hev= 8.62<40.38 O
Vrhev= 48.2<-34.60, V, Zthev= 86.2<48.79 O
Vrhev= 5<-34.60, V, ZThev= 8.1<48.79 O
Vrhev= 4.82<-34.60, V, Z1hev= 8.62<48.79 O
None of the above

moowr»

w

. The conjugate of the complex power delivered by a current source is 200 ~ 200

VA. If the source current is %445" A peak, determine the rms voltage across

the source.

40V rms

40V rms

80V rms

—40 V rms

None of the above

moowmy
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4. In the figure shown, vs = 10cos1007t V ms,
Ly=120mH, L, =30 mH, R =100 ohms,
Ny =500 turns, and N = 1500 turns. Determine +
the coupling coefficient so that no current flows
in the 100 ohm resistor.

Vs

A 04 . d Ol d

B. 05 3

C. 0.6

D. 0.8

E. None of the above

z 1

5. Given a balanced three-phase system in which a %
t.he l.oad consumes 50 kW‘at 0.8p.f. lagglng. The b | | oad
line impedance Z,=0.5+;0.5 Q. Capacitors are e A iy
connected at the load terminals so that the p.f. c M

at the supply terminals abc is unity. If the line
current /'is 100 A rms, determine the rms line voltage at the load terminals.
(Answers are rounded to three significant figures.)

579V rms
367 V rms
301V rms
262 V rms
None of the above

moow»

6. Find the maximum average power given that Ry is adjusted for maximum
power transfer.

fL
A ZecW
B.go0 W
C 900 W
D.25 W

E. None of the above
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kVAR. The second load is Y connected and hag an impedance of 20 =] 6.67 Q/9, the line-to-
neutral voltage at the load is 4 kV 5. Find the line voltage at the source.

A. 6990.63 Vv

B. 69736V

C. 698747V

D. 6951.82 Vv

E. None of the above

8. Consider a source Vs supplying the primary of a transformer. The secondary
is connected to 3 purely capacitive load Zc. The primary impedance is Z1, the
secondary impedance is Z2, and the mutua] impedance between primary and
secondary is Zm. Calculate the currents [1 at primary and 12 at secondary.

Given: Vs = 300 <@° V, Z1=j3600 Q, Z22=j2500 Q, Zm=j1200 Q. Zc= -j1800

A 11=132 <+9(° mA, 12=333<-9(° mA
B. 1=132 <@° MA, 12=333<+18(° mA
C. M= 280 <-90° mA, 12=560<+90° mA
D. 1= 280 <p° mA, 12=560<+18(° mA
E. None of the above

If1.=10A, Ic=8A, calculate the power factor of the total load and say if it is leading or
lagging.

A 0.97 lagging
B. 0.89 lagging
C. 0.97 leading
D. 0.89 leading
E. None of the above
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. Find the input impedance Zap in the circuit shown below.

o ~J2.J?_
! e |
6.1+J5Q . ’ .
38+j9.20 goLo I3 I I
6+j5. 896 Q v
8.3+j4.7Q & .
None of the above £ ez o224

Determine the value of C in the circuit shown if C takes 5 VAR. The operating frequency
1s 50 Hz.

G
i AMA-
19 £0° < 30,/0°
v C U
12.63 uF ju— |
.62

14.74 uF Jo-6280
17.68 uF
3 uF

None of the above



